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O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imobo§ &

àíZ nwpñVH$m
{df` H$moS>	 :	 36

{df`	 :	 ^yJmob

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m ̀ m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.

 Question Booklet Bar Code Serial No.
àíZ-nw{ñVH$m ~ma H$moS> H«$_ g§»`m
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	 1.	 ^maV H$m nhbm gm¡a {_eZ "Am{XË` Eb1' H$~ àjo{nV {H$`m J`m Wm ?
	 (A)	 {gVå~a 2023	 (B)	AŠQy>~a 2024	 (C)	 OyZ 2023	 (D)	 Zdå~a 2023

	 	 When was first solar mission of India ‘Aditya L1’ launched ?

	 (A)	 September 2023	 (B)	 October 2024	 (C)	 June 2023	 (D)	 November 2023

	 2.	 {H$g eha _| n¡am E{e`mB© Iob, 2023 Am`mo{OV {H$`o J`o Wo ?
	 (A)	 ~r{O§J	 (B)	 JwAm§JOm¡	 (C)	 hm§JOm¡	 (D)	 e§KmB©

	 	 In which city Para Asian Games, 2023 were held ?

	 (A)	 Beijing	 (B)	 Guangzhou	 (C)	 Hangzhou	 (D)	 Shanghai

	 3.	 2024 _| ^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© (go~r) H$m AÜ`j {H$go {Z`wŠV {H$`m J`m Wm ?
	 (A)	 AO` Ë`mJr	 (B)	 _mY~r nwar ~wM	 (C)	 `y. Ho$. {gÝhm	 (D)	 S>r. Ama. _ohVm

	 	 Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?

	 (A)	 Ajay Tyagi	 (B)	 Madhabi Puri Buch	 (C)	 U. K. Sinha	 (D)	 D. R. Mehta

	 4.	 V{_bZmSy> _| EH$ Z`r amOZr{VH$ nmQ>u ""V{_bmJm doQ´>r H$µOJ_'' {H$gHo$ Ûmam ewê$ H$s J`r ?
	 (A)	 H$_b hgZ			   (B)	 aOZrH$m§V
	 (C)	 A{OV Hw$_ma			   (D)	 Omogo\$ {dO` MÝÐeoIa

	 	 Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?

	 (A)	 Kamal Hasan	 	 	 (B)	 Rajnikant

	 (C)	 Ajith Kumar	 	 	 (D)	 Joseph Vijay Chandrashekhar

	 5.	 19 dm± Or-20 {eIa gå_obZ H$hm± Am`mo{OV {H$`m J`m Wm ?
	 (A)	 ZB© {Xëbr, ^maV			   (B)	 [a`mo {S> OZoamo, ~«mOrb
	 (C)	 OH$mVm©, BÊS>moZo{e`m			   (D)	 _mñH$mo, ê$g

	 	 Where was 19th G-20 Summit held ?

	 (A)	 New Delhi, India	 	 	 (B)	 Rio de Janeiro, Brazil

	 (C)	 Jakarta, Indonesia	 	 	 (D)	 Moscow, Russia

	 6.	 ñdÀN> ^maV A{^`mZ H$s ewéAmV H$~ hþ`r ?
	 (A)	 2 AŠQy>~a, 2014	 (B)	 21 AJñV, 2014	 (C)	 22 OZdar, 2015	 (D)	 28 AJñV, 2014

	 	 When Swachha Bharat Mission was started ?

	 (A)	 2 October, 2014	 (B)	 21 August, 2014	 (C)	 22 January, 2015	 (D)	 28 August, 2014

	 7.	 g_mO{_{V narjU H$m à`moJ gd©àW_ {H$gZo {H$`m Wm ?
	 (A)	 Oo. E. S>o{dg	 (B)	 E. Oo. aoBg	 (C)	 Oo. Eb. _moaoZmo	 (D)	 E. E_. ES>dS>©²g

	 	 Who was the first to apply the sociometric test ?

	 (A)	 J. A. Davis	 (B)	 A. J. Reiss	 (C)	 J. L. Moreno	 (D)	 A. M. Edwards

gm_mÝ` kmZ 
General knowledge
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	 8.	 {ZåZ{b{IV H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE :
	 I.	 àmapå^H$ g_§H$
	 II.	 g_§H$mo H$m àg§ñH$aU
	 III.	 g_§H$mo H$m {díbofU
	 IV.	 g_§H$mo H$m àñVwVrH$aU
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> : 
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 	 Arrange the following in a sequence :
	 I.	 Raw Data
	 II.	 Data Processing
	 III.	 Analysis of Data
	 IV.	 Presentation of Data
	 	 Choose the correct answer from the code given below :
		  Code :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 9.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ _mZd à{V^m{J`m| H$mo em{_b H$aZo dmbo emoY H$m àmW{_H$ Z¡{VH$ {dMma h¡ ?

	 (A)	 gm§p»`H$s` _hËd gw{ZpíMV H$aZm	 (B)	 {demb à{VXe© AmH$ma àmßV H$aZm

	 (C)	 CÝZV emoY nÕ{V`m| H$m à`moJ H$aZm	 (D)	 à{V^m{J`mo§ H$s Jmon{Z`Vm ~Zm`o aIZm
	 	 Which one among the following is a primary ethical consideration when conducting research involving 

human participants ?
	 (A)	 Ensuring statistical significance	 (B)	 Achieving a large sample size 
	 (C)	 Utilizing advanced research methodology	 (D)	 Maintaining participant anonymity 

	 10.	 ImoOnaH$ A{YJ_ Omo AÝdofU AmYm[aV {ejU H$s {d{Y h¡, {H$gHo$ Ûmam Amaå^ H$s J`r ?
	 (A)	 {d{b`_ Ooåg	 (B)	 Ooamo_ ~«yZa	 (C)	 Om°Z S>odr	 (D)	 OrZ {n`mOo
	 	 Who introduced discovery learning method of inquiry based education ?
	 (A)	 William James	 (B)	 Jerome Bruner	 (C)	 John Dewey	 (D)	 Jean Piaget

	 11.	 {díd{dÚmb` AZwXmZ Am`moJ H$s H$m¡Z-gr nhb CÀM {ejm _| ""{S>{OQ>b b{ZªJ'' H$s MwZm¡{V`m| H$m g_mYmZ H$aZo 
H$m bú` aIVr h¡ ?

	 (A)	 ñdÀN> ^maV A{^`mZ			   (B)	 ^maVr` amîQ´>r` {S>{OQ>b bmB~«oar (NDLI)

	 (C)	 {S>{OQ>b B§{S>`m H$m`©H«$_			   (D)	 B§{Xam Jm±Yr amîQ´>r` _wŠV {díd{dÚmb` (IGNOU)
	 	 Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?
	 (A)	 Swachh Bharat Abhiyan	 	 	 (B)	 National Digital Library of India (NDLI)
	 (C)	 Digital India Programme 	 	 	 (D)	 Indira Gandhi National Open University (IGNOU)

	 12.	 Xe_bd g§»`m 10 H$m ~mBZar à{V{Z{YËd Š`m h¡ ?

	 	 What is the binary representation of decimal number 10 ?
	 (A)	 0110	 (B)	 1001	 (C)	 1010	 (D)	 1100
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	 13.	 JrJm~mBQ> eãX H$m VmËn`© h¡ 
	 (A)	 1024 ~mBQ²>g	 (B)	 1024 {H$bmo~mBQ>²g	 (C)	 1024 _oJm~mBQ²>g	 (D)	 1024 JrJm~mBQ²>g

	 	 The term gigabyte refers to 

	 (A)	 1024 bytes	 (B)	 1024 kilobytes	 (C)	 1024 megabytes	 (D)	 1024 gigabytes

	 14.	 Am±H$‹S>m| H$s JUZm hoVw {ZåZ _| go H$m¡Z-gm gmYZ à`wŠV hmoVm h¡ ?
	 (A)	 MS Access (E_. Eg. EŠgog)	 (B) 	MS Excel (E_. Eg. EŠgob)
	 (C)	 Google Docs (JyJb S>mŠg)		 (D)	MS PowerPoint (E_. Eg. nmdanm°B§Q>)

	 	 Which tool is used among the following for data calculation ?

	 (A)	 MS Access	 	 	 (B)	 MS Excel

	 (C)	 Google Docs	 	 	 (D)	 MS PowerPoint

	 15.	 {ZåZ _| H$m¡Z-gm "BZnwQ> {S>dmBg' h¡ ?
	 (A)	 ~ma H$moS> arS>a	 (B)	 _mZrQ>a	 (C)	 àmoOoŠQ>a	 (D)	 ~«ob arS>a

	 	 Which of the following is an ‘input device’ ?

	 (A)	 Bar code reader	 (B)	 Monitor	 (C)	 Projector	 (D)	 Braille reader

	 16.	 n`m©daUr` n[apñW{V`m| _| n{adV©Z Ho$ gå~ÝY _| nm¡Ym| Ho$ _m¡g_r J{V{d{Y`m| Ho$ g_` H$mo H$hm OmVm h¡ 
	 (A)	 nm[apñW{VH$s 			   (B)	 n[aKQ>Zm {dkmZ
	 (C)	 Obdm`w {dkmZ			   (D)	 dm{ZH$s 

	 	 The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as 

	 (A)	 Ecology	 	 	 (B)	 Phenology

	 (C)	 Climatology	 	 	 (D)	 Forestry

	 17.	 "H$mQ>m©OrZm àmoQ>moH$m°b' {ZåZ{b{IV _| go {H$g EH$ go gå~pÝYV h¡ ?
	 (A)	 {damgV ñWbm| go			   (B)	AmÐ©^y{_ go
	 (C)	 Or{dV g§emo{YV Ordm| go			   (D)	AmoµOmoZ naV g§ajU go

	 	 ‘Cartagena Protocol’ is related to which one of the following ?

	 (A)	 Heritage sites	 	 	 (B)	 Wetlands

	 (C)	 Living modified organisms		 	 (D)	 Ozone layer conservation

	 18.	 {ZåZ{b{IV _| go H$m¡Z-gr EH$ ~mµOma AmYm[aV àUmbr h¡ Ohm± H$ån{Z`m± CËgO©Z AZw_{V`m| H$mo IarX Ed§ ~oM gH$Vr h¢ ?
	 (A)	 H$m~©Z ñnog			   (B)	 H$m~©Z {gŠdoñQ´>oeZ	
	 (C)	 H$m~©Z {g§H$			   (D)	 H$m~©Z Q´>o{S>§J

	 	 Which one among the following is a market based system where companies can buy and sell emission 

permits ?

	 (A)	 Carbon Space	 	 	 (B)	 Carbon Sequestration

	 (C)	 Carbon Sink	 	 	 (D)	 Carbon Trading
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	 19.	 {ZåZ{b{IV dm`w_§S>br` J¡gm| H$mo CZHo$ Am`VZ à{VeV Ho$ KQ>Vo H«$_ _| ì`dpñWV H$s{OE &
	 I.	 H$m~©Z S>mBAm°ŠgmBS>
	 II.	 ZmBQ´>moOZ
	 III.	 Am°ŠgrOZ
	 IV.	 Am°J©Z
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
	 	 Hy$Q> : 
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 	 Arrange the following atmospheric gases in order of their volume percentages in descending order.

	 I.	 Carbon dioxide

	 II.	 Nitrogen

	 III.	 Oxygen

	 IV.	 Argon

	 	 Choose the correct answer from the code given below :

		  Code :

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 20.	 {ZåZ{b{IV J«hm| H$mo CZHo$ H$jr` Ad{Y Ho$ AmYma na KQ>Vo H«$_ _| ì`dpñWV H$s{O`o &
	 1.	 e{Z
	 2.	 _§Jb
	 3.	 ~¥hñn{V
	 4.	 `yaoZg
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :

	 (A)	 4, 3, 2, 1	 	 	 (B)	 4, 1, 3, 2

	 (C)	 3, 2, 1, 4	 	 	 (D)	 3, 4, 2, 1

	 	 Arrange the following planets in descending order according to their orbital period.

	 1.	 Saturn

	 2.	 Mars

	 3.	 Jupiter

	 4.	 Uranus

	 	 Choose the correct answer from the code given below :

		  Code :

	 (A)	 4, 3, 2, 1	 	 	 (B)	 4, 1, 3, 2

	 (C)	 3, 2, 1, 4	 	 	 (D)	 3, 4, 2, 1
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	 21.	 ZrMo Xmo H$WZ {XE JE h¢, {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : O~ H$moB© OhmO ZXr go {ZH$bH$a g_wÐ _| àdoe H$aVm h¡, Vmo dh Hw$N> D$na CR> OmVm h¡ &
	 	 H$maU (R) : g_wÐ Ho$ Ob H$m KZËd ZXr Ho$ Ob Ho$ KZËd go A{YH$ h¡ &
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢, naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡ 
	 (C)	 (A) gË` h¡, naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡, naÝVw (R) gË` h¡
	 	 Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.
		  Reason (R) : The density of sea water is more than that of river water.
	 	 Select the correct answer from the code given below :
		  Code :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true, but (R) is not the correct explanation of (A)
	 (C)	 (A) is true, but (R) is false
	 (D)	 (A) is false, but (R) is true

	 22.	 {H$g {V{W H$mo A{Ib ^maVr` H$m±J«og g{_{V H$s ~¡R>H$ _| Jm±YrOr Zo H$m±J«o{g`m| go ^maV Ho$ {d^mOZ H$mo ñdrH$ma H$aZo 
H$mo H$hm Wm ?

	 (A)	 14 OyZ, 1947	 (B)	 12 OyZ, 1947	 (C)	 04 OyZ, 1947	 (D)	 03 OyZ, 1947

	 	 On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress 
Committee Meeting ?

	 (A)	 14 June, 1947	 (B)	 12 June, 1947	 (C)	 04 June, 1947	 (D)	 03 June, 1947

	 23.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ {df` g_dVu gyMr _| Zht h¡ ?
	 (A)	 {ejm			   (B)	 Ý`m` àemgZ
	 (C)	 ~mQ> Am¡a _mn			   (D)	 bmoH$ ñdmñÏ`
	 	 Which one of the following subjects is not in the concurrent list ?
	 (A)	 Education	 	 	 (B)	 Administration of justice

	 (C)	 Weights and measures	 	 	 (D)	 Public health

	 24.	 _oJmñWZrO {H$gHo$ Xa~ma _| amOXÿV Ho$ ê$n _| Am`m Wm ?
	 (A)	 {~ÝXwgma	 (B)	AemoH$	 (C)	 MÝÐJwßV _m¡`©	 (D)	 ~¥hÐW
	 	 In whose court did Megasthenes come as an ambassador ?
	 (A)	 Bindusar	 (B)	 Ashok	 (C)	 Chandragupta Maurya	 (D)	 Brihadratha

	 25.	 amÁ`m| _| Û¡Y emgZ {H$g df© bmJy {H$`m J`m Wm ?
	 	 In which year Dyarchy was started in the provinces ?
	 (A)	 1909	 (B)	 1919	 (C)	 1935	 (D)	 1937
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	 26.	 ^maVr` g§{dYmZ Ho$ {H$g AZwÀN>oX Ho$ VhV {ejm Ho$ A{YH$ma H$mo _m¡{bH$ A{YH$ma Ho$ ê$n _| Jma§Q>r Xr J`r h¡ ?
	 (A)	 AZwÀN>oX 21(A)			   (B)	AZwÀN>oX 45

	 (C)	 AZwÀN>oX 19			   (D)	AZwÀN>oX 32

	 	 Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?

	 (A)	 Article 21(A)	 	 	 (B)	 Article 45

	 (C)	 Article 19	 	 	 (D)	 Article 32

	 27.	 {H$g g§{dYmZ g§emoYZ Ûmam ghH$mar g{_{V`m| H$mo g§d¡Ym{ZH$ XOm© àXmZ {H$`m J`m ?
	 (A)	 96 dm± g§{dYmZ g§emoYZ			   (B)	 97 dm± g§{dYmZ g§emoYZ
	 (C)	 99 dm± g§{dYmZ g§emoYZ			   (D)	 101 dm± g§{dYmZ g§emoYZ

	 	 By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?

	 (A)	 96th Constitutional Amendment	 (B)	 97th Constitutional Amendment

	 (C)	 99th Constitutional Amendment	 (D)	 101th Constitutional Amendment

	 28.	 H$mo{dS> _hm_mar (2020 – 21) Ho$ Xm¡amZ g~go ~war Vah à^m{dV joÌmo§ H$m H«$_ ^maVr` AW©ì`dñWm Ho$ g§X^© _| 
M`{ZV H$s{O`o &

	 (A)	 H¥${f, godm, CÚmoJ			   (B)	 godm, H¥${f, CÚmoJ
	 (C)	 godm, CÚmoJ, H¥${f			   (D)	 CÚmoJ, godm, H¥${f

	 	 Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic 

(2020 – 21).

	 (A)	 Agriculture, Service, Industry	 (B)	 Service, Agriculture, Industry

	 (C)	 Service, Industry, Agriculture	 (D)	 Industry, Service, Agriculture

	 29.	 EH$ Vah H$s ~oamoOJmar, {Og_| {H$gr ì`pŠV H$m {H$gr H$m ©̀ _| hmoZm `m Z hmoZm H$moB© AÝVa Zhr§ S>mbVm h¡, H$hbmVr h¡
	 (A)	 Aën amoOJma			   (B)	Am¡nMm[aH$ ~oamoOJmar
	 (C)	 _m¡g_r ~oamoOJmar			   (D)	 àÀN>Þ ~oamoOJmar

	 	 A type of unemployment in which the presence or absence of a person in a job does not make a 

difference, is called

	 (A)	 Under employment	 	 	 (B)	 Formal unemployment

	 (C)	 Seasonal unemployment	 	 	 (D)	 Disguised unemployment

	 30.	 g§Kr` ~OQ> (2025 – 26) Ho$ VhV nhbr ~ma H$ë`mU hoVw gm_m{OH$ gwajm ñH$s_ H$m àñVmd {X`m J`m h¡ 
	 (A)	 {d{Z_m©U joÌ Ho$ l{_H$m| Ho$ {b`o	 (B)	 H¥${f joÌ Ho$ l{_H$m| Ho$ {b`o
	 (C)	 Am°ZbmBZ ßb¡Q>\$m°_© l{_H$mo§ Ho$ {b`o	 (D)	 _{hbm l{_H$m| Ho$ {b`o

	 	 Under the Union Budget (2025 – 26), first time Social Security Scheme for Welfare has been proposed for

	 (A)	 Manufacturing workers	 	 	 (B)	 Agricultural workers

	 (C)	 Online platform workers	 	 	 (D)	 Women workers
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	 31.	 "H${Q>~ÝY g§ñVa {gÕmÝV' H$m à{VnmXZ {ZåZ{b{IV _| go {H$gHo$ Ûmam {H$`m J`m  ?

	 (A)	 ga h~©Q>© [añbo	 (B)	 {J«{\$W Q>oba	 (C)	 Oo. EM. hQ>Z	 (D)	 dmZ BŠgQ>oQ>
Who among the following propounded the ‘Zone Strata Theory’ ?

	 (A)	 Sir Herbert Risley	 (B)	 Griffith Taylor	 (C)	 J. H. Hutton	 (D)	 Von Eickstedt

	 32.	 {ZåZ{b{IV _| go H$m¡Z d¥hX jaU H$s à_wI àoaH$ epŠV h¡ ?

	 (A)	 {h_mZr {H«$`m	 (B)	 dm`w X~md	 (C)	 JwéËdmH$f©U	 (D)	 ßboQ> {ddV©Z
Which of the following is the driving force behind Mass Wasting ?

	 (A)	 Glacial activity	 (B)	 Wind pressure	 (C)	 Gravity	 (D)	 Plate tectonic

	 33.	 H$monoZ Ho$ {díd Obdm`w {d^mOZ `moOZm Ho$ AZwgma {ZåZ{b{IV _| go H$m¡Z EH$ gË` Zht h¡ ?

	 (A)	 Af = CîUH${Q>~ÝYr` dfm© dZ		 (B)	 Am = CîUH${Q>~ÝYr` _mZgyZ

	 (C)	 Aw = CîUH${Q>~ÝYr` gdmZm	 	 (D)	 An = CîU _éñWb
Which one of the following is not correct as per Koppen’s Scheme of classification of world climate ?

	 (A)	 Af = Tropical rain forest	 	 	 (B)	 Am = Tropical monsoon

	 (C)	 Aw = Tropical savanna	 	 	 (D)	 An = Hot desert

	 34.	 {ZåZ{b{IV _| go H$m¡Z ^maVr` ^yJmobdoÎmm àmXo{eH$ {dH$mg Am¡a J«m_rU {Z`moOZ na AnZo H$m`© Ho$ {bE OmZm 
OmVm h¡ ?

	 (A)	 Eg. nr. MQ>Ou			   (B)	 Ama. nr. {_lm
	 (C)	 Or. Eg. Jmogmb			   (D)	 ~r. EZ. Jmoñdm_r

Which of the following Indian Geographer is known for his work on regional development and rural 

planning ?

	 (A)	 S. P. Chatterjee	 	 	 (B)	 R. P. Mishra

	 (C)	 G. S. Gosal	 	 	 (D)	 B. N. Goswami

	 35.	 {ZåZ{b{IV _| go H$m¡Z ^yJmob _| _mÌmË_H$ H«$mpÝV H$m à_wI ì`pŠV Wm ?

	 (A)	 nrQ>a h¡JoQ>			   (B)	 [aMmS>© hmQ>©emoZ©

	 (C)	 EM. _¡qH$S>a			   (D)	 H$mb© gm°da
Who among the following was a key figure in Quantitative Revolution in Geography ?

	 (A)	 Peter Haggett	 	 	 (B)	 Richard Hartshorne

	 (C)	 H. Mackinder	 	 	 (D)	 Carl Saur

^yJmob
Geography
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	 36.	 ZJa {dH$mg H$m gHo$ÝÐr` joÌ _m°S>b {ZåZ{b{IV _| go {H$gHo$ Ûmam àñVm{dV {H$`m J`m ?
	 (A)	 dmëQ>a {H«$ñQ>mba			   (B)	 hmo_a hmo`Q>
	 (C)	 AZ}ñQ> ~J}g			   (D)	 h¡[ag Am¡a Cë_¡Z

Who among the following proposed the concentric zone model of urban development ?

	 (A)	 Walter Christaller	 	 	 (B)	 Homer Hoyet

	 (C)	 Ernest Burgess	 	 	 (D)	 Harris and Ullman

	 37.	 ^m¡Jmo{bH$ Am±H$‹S>m| Ho$ ñWm{ZH$ à{Vê$n H$s nhMmZ Ho$ {bE {ZåZ{b{IV _| go {H$g {d{Y H$m Cn`moJ {H$`m 
OmVm h¡ ?

	 (A)	 à{VM`Z			   (B)	 ghgå~ÝY {díbofU
	 (C)	 g_ml`U			   (D)	 {ZH$Q>V_ n‹S>mog {díbofU

Which one of the following methods is used to identify spatial pattern of a geographical data ?

	 (A)	 Sampling	 	 	 (B)	 Correlation analysis

	 (C)	 Regression	 	 	 (D)	 Nearest neighbour analysis

	 38.	 {ZåZ{b{IV _| go H$m¡Z-gm AmaoI g_` Ho$ gmW àd¥{Îm (éPmZ) {XImZo Ho$ {bE g~go AÀN>m hmoVm h¡ ?
	 (A)	 nmB© MmQ>©	 (B)	 AmoOmBd	 (C)	 aoIm AmaoI	 (D)	 VmaH$ AmaoI

Which of the following diagram is best for showing trends over time ?

	 (A)	 Pie chart	 (B)	 Ogive	 (C)	 Line graph	 (D)	 Star diagram

	 39.	 {ZåZ{b{IV _| go H$m¡Z-gm _mZ{MÌ àjon A§V[aj go n¥Ïdr H$mo Xem©Vm h¡ ?
	 (A)	 Ho$ÝÐr` àjon			   (B)	 bå~H$moUr` àjon
	 (C)	 _aHo$Q>a àjon			   (D)	 {gÝ`wñdm`S>b àjon

Which of the following map projections shows the earth as viewed from space ?

	 (A)	 Gnomonic projection	 	 	 (B)	 Orthographic projection

	 (C)	 Mercator projection	 	 	 (D)	 Sinusoidal projection

	 40.	 {ZåZ{b{IV _| go H$m¡Z-gr g§H$ënZm àmXo{eH$ {Z`moOZ _| ZJa V§Ì Ho$ ñWm{ZH$ g§JR>Z Ho$ gmW g~go A{YH$ Ow‹S>m 
hþAm h¡ ?

	 (A)	 àIÊS>r` {gÕmÝV			   (B)	 Ho$ÝÐr` ñWb {gÕmÝV
	 (C)	 {Z^©aVm {gÕmÝV			   (D)	 g§gmYZ Amd§Q>Z {gÕmÝV

Which of the following concepts is most closely associated with the spatial organisation of urban 

systems in regional planning ?	

	 (A)	 Sector theory	 	 	 (B)	 Central place theory

	 (C)	 Dependency theory	 	 	 (D)	 Resource allocation theory
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	 41.	 `{X EH$ _mnH$ na ‘R’ KQ>mB© J`r n¥Ïdr H$s {ÌÁ`m h¡, Vmo _mbdrS> àjon na ^y_Ü` aoIm H$s bå~mB© hmoJr 
If ‘R’ is the radius of the reduced earth on a scale, the length of the equator on Mollweide’s 
projection would be 

	 (A)	 2πR	 (B)	 2πR cos 45°	 (C)	 πR cosec 45°	 (D)	 4 2× ×R

	 42.	 J_© Ed§ R>§S>o-H$moa [a¨J {H$g _hmgmJar KQ>Zm go Ow‹S>o h¢ ?
	 (A)	 EH$_¡Z g{n©b			   (B)	 Jë\$ ñQ´>r_
	 (C)	 d¥hV² Ádma			   (D)	 H$Ýdo`a-~oëQ> n[ag§MaU

Warm and cold-core rings are associated with which oceanic phenomena ?

	 (A)	 Ekman spiral	 	 	 (B)	 gulf stream

	 (C)	 Spring tide	 	 	 (D)	 Conveyor-belt circulation

	 43.	 {ZåZ{b{IV _| go {H$gZo H$hm {H$ ""àXoe {H$gr joÌ Ho$ n[adV©Zerb M[aÌ H$mo à^mdr VarHo$ go d{U©V H$aZo H$m 
g§{jßV VarH$m h¡'' ?

	 (A)	 Aë\«o$S> hoQ>Za			   (B)	 [aMmS>© hmQ>©emoZ©
	 (C)	 Q>r. Q>r. dy\$a			   (D)	 nrQ>a h¡JoQ>

Who among the following said that ‘‘Regions are shorthand way of describing the variable character 
of an area in an efficient manner” ?

	 (A)	 Alfred Hettner	 	 	 (B)	 Richard Hartshorne

	 (C)	 T. T. Woofer	 	 	 (D)	 Peter Haggett

	 44.	 {ZåZ{b{IV _| go H$m¡Z-gm Obdm`w n[adV©Z na amîQ´>r` H$m`© `moOZm H$m {_eZ Zht h¡ ?
	 (A)	 h[aV ^maV Ho$ {bE amîQ´>r` {_eZ
	 (B)	 gVV H¥${f Ho$ {bE amîQ´>r` {_eZ
	 (C)	 amîQ´>r` Ob {_eZ
	 (D)	 dÝ`Ord g§ajU Ho$ {bE amîQ´>r` {_eZ

Which of the following is not a mission of National Action Plan on climate change ?

	 (A)	 National Mission for a Green India

	 (B)	 National Mission for Sustainable Agriculture

	 (C)	 National Water Mission

	 (D)	 National Mission for Wildlife Protection

	 45.	 `{X {H$gr S>oQ>m goQ> H$m _mZH$ {dMbZ (SD) 2.83 h¡, Vmo CgH$m àgaU Š`m hmoJm ?
If the Standard Deviation (SD) of a data set is 2.83, then what will be its variance ?

	 (A)	 5.66	 (B)	 8.00	 (C)	 1.68	 (D)	 0.12

	 46.	 ^maV Ho$ {ZåZ{b{IV _| go {H$g amÁ` H$mo _mobo{gg ~o{gZ H$hm OmVm h¡ ?
	 (A)	 ZmJmb¡ÊS>	 (B)	 {_µOmoa_	 (C)	 _{Unwa	 (D)	 {Ìnwam

Which of the following states of India is called Molasses Basin ?

	 (A)	 Nagaland	 (B)	 Mizoram	 (C)	 Manipur	 (D)	 Tripura
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	 47.	 _bo{e`m _| ñWmZmÝVaU H¥${f H$mo H$hVo h¢

	 (A)	 {_ënm	 (B)	 bXm§J	 (C)	 V_amB©	 (D)	 Vm¢½`m

Shifting cultivation in Malaysia is called

	 (A)	 Milpa	 (B)	 Ladang	 (C)	 Tamrai	 (D)	 Taunga

	 48.	 ^maV H$m _m¡g_ _mZ{MÌ {H$g àjon na ~Zm`m OmVm h¡ ?

	 (A)	 _aHo$Q>a àjon			   (B)	 ~moZ àjon

	 (C)	 {gZwñdm`S>b àjon			   (D)	 ~hþe§ŠdmH$ma àjon

The weather map of India is prepared on which projection ?

	 (A)	 Mercator’s projection	 	  	 (B)	 Bonne projection

	 (C)	 Sinusoidal projection	 	 	 (D)	 Polyconic projection

	 49.	 d¥hX {h_ H$mb (J«oQ> AmBg EoO) H$s g§H$ënZm H$m à{VnmXZ {ZåZ{b{IV _| go {H$gZo {H$`m ?

	 (A)	 bwBg AmJmgrO			   (B)	 Mmëg© ë`ob

	 (C)	 OmZ ßbo\o$`a			   (D)	 Ooåg hQ>Z

Who among the following propounded the concept of ‘Great Ice Age’ ?

	 (A)	 Louis Agassiz	 	 	 (B)	 Charles Lyell

	 (C)	 John Playfair	 	 	 (D)	 James Hutton

	 50.	 {ZåZ{b{IV _| go H$m¡Z-gm eãX {H$gr àOm{V H$s Amdmg Amdí`H$VmAm| H$s pñW{V Ho$ gmW-gmW CgH$s 

H$m`m©Ë_H$ ^y{_H$m H$m dU©Z H$aVm h¡ ?

	 (A)	 BH$moQ>moZ			   (B)	 àmH¥${VH$ dmg

	 (C)	 nm[apñW{VH$s {ZHo$			   (D)	 hmo_ a|O

Which of the following terms describes the position of a species habitat requirements as well as 

its functional role ?

	 (A)	 Ecotone	 	 	 (B)	 Natural Habitat

	 (C)	 Ecological Niche	 	 	 (D)	 Home Range

	 51.	 am{Ì Ho$ g_` MÝÐ_m Ho$ Mmam| Amoa ~ZZo dmbo à^m_§S>b H$m H$maU h¡ 

	 (A)	 njm^ H$nmgr _oK			   (B)	 CÀM H$nmgr _oK

	 (C)	 njm^ Ed§ njm^ ñVar _oK		  	 (D)	 CÀMñVar _oK

The halo formed around the moon at night is caused by

	 (A)	 Cirro-cumulus clouds	 	 	 (B)	 alto-cumulus clouds

	 (C)	 Cirrus and Cirro-stratus clouds	 (D)	 Alto-stratus clouds
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	 52.	 {ZåZ{b{IV _| go {H$gZo {díd Obdm`w dJuH$aU _| AmZw^{dH$ Ed§ OZ{ZH$ XmoZm| àH$ma Ho$ dJuH$aU H$mo 
g_m{hV {H$`m h¡ ?

	 (A)	 Or. Q>r. {Q´>dmWm©	 (B)	 Amo{bda-{hS>moao	 (C)	 WmZ©ÏdoQ>	 (D)	 {_ba

Who among the following has included both empirical and genetic classification in the world 

climate classification ?

	 (A)	 G. T. Trewartha	 (B)	 Oliver-Hidore	 (C)	 Thornthwait	 (D)	 Miller

	 53.	 {ZåZ{b{IV _| go H$m¡Z-gm J«§W Q>mbo_r go g§~§{YV Zht h¡ ?
	 (A)	 {O`moJ«m{\$Ho$ qgQ>¡pŠgg			   (B)	 Ab_mOoñQ>
	 (C)	 EZo{b_m	 		  (D)	 {O`moJ«m{\$H$m

Which one of the following books is not related to ptolemy ?

	 (A)	 Geographike syntaxis	 	 	 (B)	 Almagest

	 (C)	 Anaelema	 	 	 (D)	 Geographica

	 54.	 "X nëg Am°\$ E{e`m' nwñVH$ Ho$ boIH$ H$m¡Z h¡ ?
	 (A)	 Bgm ~mo_oZ			   (B)	 EëgdW© h§qQ>½Q>Z
	 (C)	 {J«{\$W Q>oba			   (D)	 H$mb© Amo. gmda

Who is the author of book ‘The Pulse of Asia’ ?

	 (A)	 Isaiah Bowman	 	 	 (B)	 Ellsworth Huntington

	 (C)	 Griffith Taylor	 	 	 (D)	 Carl O. Sauer

	 55.	 {hÝX _hmgmJa _| gdm©{YH$ nm`m OmZo dmbm nob{OH$ {Zjon H$m¡Z-gm h¡ ?

	 (A)	 {g{bH$m àYmZ D$O			   (B)	 bmb _¥{VH$m

	 (C)	 ½bmo{~Oo[aZm D$O			   (D)	 S>m`Q>_ D$O

Which is the most abundant pelagic deposit found in the Indian ocean ?

	 (A)	 Siliceous ooze	 	 	 (B)	 Red clay

	 (C)	 Globigerina ooze	 	 	 (D)	 Diatom ooze

	 56.	 àdmb {da§OZ H$m gd© à_wI H$maU Š`m h¡ ?
	 (A)	 ^y_§S>br` VmnZ			   (B)	 _hmgmJar` àXÿfU
	 (C)	 _hmgmJar` YmamE±			   (D)	 g_wÐr `mVm`mV

What is the most important cause of coral bleaching ?

	 (A)	 Global warming	 	 	 (B)	 Oceanic pollution

	 (C)	 Ocean currents	 	 	 (D)	 Marine traffic
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	 57.	  {ZåZ{b{IV _| go H$m¡Z-gr J¡g "ZJar` Yy_ H$moham' H$m H$maU Zht h¡ ?
	 (A)	 gë\$a S>mB©Am°ŠgmBS>			   (B)	 ZmBQ´>moOZ Am°ŠgmBS>
	 (C)	 AmoOmoZ	 		  (D)	 H$m~©Z _moZmoAm°ŠgmBS>

Which one of the following gasses is not the cause of urban smog ?

	 (A)	 Sulphur dioxide	 	 	 (B)	 Nitrogen oxide

	 (C)	 Ozone	 	 	 (D)	 Carbon monoxide

	 58.	 ZJam| _| D$î_m Ûrn H$m gdm©{YH$ {dH$mg {H$g g_` hmoVm h¡ ?
	 (A)	 àmV:H$mb gy`m}X` Ho$ g_`			   (B)	 Xmonha Ho$ g_`
	 (C)	 gÿ`© AñV Ho$ g_`			   (D)	 am{Ì Ho$ g_`

When do the heat islands develop the most in the cities ?

	 (A)	 In the morning at sunrise	 	 (B)	 At noon

	 (C)	 At sunset	 	 	 (D)	 At night

	 59.	 ^maV _| "ñ_mQ>© {gQ>rO² {_eZ' H$m Amaå^ H$~ {H$`m J`m ?

	 (A)	 21 OyZ, 2015	 	 	 (B)	 25 OyZ, 2015

	 (C)	 26 OyZ, 2015	 	 	 (D)	 27 OyZ, 2015
When was the ‘Smart Cities Mission’ launched in India ?

	 (A)	 21 June, 2015	 	 	 (B)	 25 June, 2015

	 (C)	 26 June, 2015	 	 	 (D)	 27 June, 2015

	 60.	 {ZåZ{b{IV _| go H$m¡Z-gr _¥Xm gdm©{YH$ H$m~©{ZH$ nXmWm] go `wŠV h¡ ?
	 (A)	 ApëQ>gmob	 (B)	 E§{S>gmob	 (C)	 BZgopßQ>gmob	 (D)	 {hñQ>mogmob

Which of the following soils contains the most organic matter ?

	 (A)	 Ultisol	 (B)	 Andisol	 (C)	 Inceptisol	 (D)	 Histosol

	 61.	 {ZåZ{b{IV _| go gdm©{YH$ H¥${Ì_ a~a CËnmXZ H$aZo dmbm Xoe H$m¡Z-gm h¡ ?
	 (A)	 g§`wŠV amÁ` A_o[aH$m		  	 (B)	 MrZ
	 (C)	 _bo{e`m		  	 (D)	 BÊS>moZo{e`m

Which of the following countries produces the most synthetic rubber ?

	 (A)	 United states of America	 	 (B)	 China

	 (C)	 Malaysia	 	 	 (D)	 Indonesia

	 62.	 "E Ý`y gmo{d`V hmQ>©b¡ÊS>' Zm_H$ nwñVH$ H$m gå~ÝY {ZåZ{b{IV _| go {H$ggo h¢ ?
	 (A)	 H$mohZ	 (B)	 godoañH$s	 (C)	 hmogmoZ	 (D)	 _¡{H$ÊS>a

The book ‘A New Soviet Heartland’ is related to who among the following ?

	 (A)	 Cohen	 (B)	 Seversky	 (C)	 Hooson	 (D)	 Mackinder
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	 63.	 {ZåZ{b{IV _| go H$m¡Z ghr gw_o{bV Zht h¡ ?
	                      OZOm{V	                         àOm{V

	 (A)	 doÔm	 –	 H$mHo$em`S>

	 (B)	 A_o[aH$Z B§{S>`Z	 –	 _§Jmobm`S>

	 (C)	 ~we_¡Z hmoQ>oZQ>mQ>	 –	 ZrJ«m`S>

	 (D)	 XrZm[aH$	 –	 {ÛVr`H$ ZrJ«m`S>
Which of the following is not correctly matched ?

		           Tribes	                       Race

	 (A)	 Vedda	 –	 Caucasoid

	 (B)	 American Indian	 –	 Mongoloid

	 (C)	 Bushman Hottentot	 –	 Negroid

	 (D)	 Dinaric 	 –	 Secondary Negroid

	 64.	 XmoZm| Y«wdm| H$mo {ZåZ{b{IV _| go {H$g àjon na àX{e©V {H$`m OmVm h¡ ?
	 (A)	 Jmb àjon			   (B)	 {gZwñdm`S>b àjon
	 (C)	 Y«wdr` I_Ü` àjon			   (D)	 ~moZ àjon

Both the poles are shown on which of the following projections ?

	 (A)	 Gall’s projection	 	 	 (B)	 Sinusoidal projection

	 (C)	 Polar zenithal projection		 	 (D)	 Bonne’s projection

	 65.	 {H$gZo `h g_W©Z {H$`m Wm {H$ "_mZd H$m ^m¡Jmo{bH$ {dVaU {H$gr AÝ` VËd H$s VwbZm _| Obdm`w Ed§ _m¡g_ na 
A{YH$ {Z^©a hmoVm h¡' ?

	 (A)	 Or. Q>oba	 (B)	 E\$. a¡Q>Oob	 (C)	 B©. goånwb	 (D)	 B©. h§qQ>JQ>Z
Who supported that ‘the geographical distribution of man depends on climate and weather more than 

any other factor’ ?	

	 (A)	 G. Taylor	 (B)	 F. Ratzel	 (C)	 E. Semple	 (D)	 E. Huntington

	 66.	 eñ` g§`moOZ {díbofU _| {ZåZ{b{IV _| go Ý`yZV_ {dMbZ {d{Y H$m¡Z-gr h¡ ?
	 (A)	 a\$sCëbm {d{Y			   (B)	 H$moñQ´>mo{dH$s {d{Y
	 (C)	 drda {d{Y			   (D)	 Ho$. XmoB© {d{Y

Which of the following is the minimum deviation method in crop combination analysis ?

	 (A)	 Rafiullah method	 	 	 (B)	 Kostroviki method

	 (C)	 Weaver’s method	 	 	 (D)	 K. Doi’s method
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	 67.	 pñ_W Zo gm_m{OH$ Iwehmbr H$s JUZm hoVw {H$VZo g§Ho$VH$m| H$m Cn`moJ {H$`m h¡ ?

How many indicators have been used by Smith to count social happiness ?

	 (A)	 5	 (B)	 6	 (C)	 8	 (D)	 7

	 68.	 níM ghb½ZVm à^md Ho$ H$maU {H$g àH$ma H$m CÚmoJ {dH${gV hmoVm h¡ ?

	 (A)	 AmYma^yV CÚmoJ

	 (B)	 {d{eîQ CÚmoJ

	 (C)	 nyaH$ `m gh`moJr CÚmoJ		

	 (D)	 ZH$mamË_H$ CÚmoJ

Which type of industry develops due to backward linkage effect ?

	 (A)	 Basic industries

	 (B)	 Specific industries

	 (C)	 Complementary or supporting industries

	 (D)	 Negative industries

	 69.	 {ZåZ{b{IV _| go {H$g g§H$ënZm na noamoŠg "d¥{Õ Y«wd {gÕmÝV' H$m {dH$mg _yb ê$n go AmYm[aV h¡ ?

	 (A)	 Y«wdrH$aU	

	 (B)	 _yV© Am{W©H$ joÌ

	 (C)	 A_yV© Am{W©H$ joÌ		

	 (D)	 g_ê$nr` g_yh

The development of Perox ‘Growth Pole theory’ is basically based on which of the following concept ?

	 (A)	 Polarization	 	

	 (B)	 Tangible economic space

	 (C)	 Abstract economic space	

	 (D)	 Homogeneous groups

	 70.	 bm°a|O dH«$ {ZåZ{b{IV _| go {H$g _mn H$s ao{IH$ A{^ì`pŠV h¡ ?

	 (A)	 _mpÜ`H$m			   (B)	 _mZH$ {dMbZ

	 (C)	 ~hþbH$			   (D)	 àgma

Lorenz curve is linear expression of which of the following measurement ?

	 (A)	 Median	 	 	 (B)	 Standard deviation

	 (C)	 Mode	 	 	 (D)	 Dispersion
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	 71.	 {H$g àH$ma H$s dZñn{V H$mo H$^r-H$^r ñŠboamo{\$bg dZ H$hVo h¢ ?

	 (A)	 gXm~hma dfm© dZ			   (B)	 Q>¡Jm dZ

	 (C)	 ^y_Ü`gmJar` Pm{‹S>`m±			   (D)	 Ádmar` dZ

Which type of vegetation is sometimes called Sclerophyllous forest ?

	 (A)	 Evergreen rain forest	 	 	 (B)	 Taiga forest

	 (C)	 Mediterranean scrub	 	 	 (D)	 Tidal forest

	 72.	 {ZåZ{b{IV _| go H$m¡Z EH$ _hmgmJar` Am¡a _hmÛrnr` ßboQ>m| Ho$ ~rM A{^gmar gr_m H$m CXmhaU h¡ ?

	 (A)	 EÊS>rO nd©V			   (B)	 nydu A\«$sH$s ^«§e KmQ>r

	 (C)	 g¡Z EpÊS´>`mg ^«§e			   (D)	 _Ü` AQ>bm§{Q>H$ H$Q>H$

Which of the following is an example of convergent boundary between an oceanic and continental 

plate ?

	 (A)	 Andes mountains	 	 	 (B)	 East African rift valley

	 (C)	 San Andreas fault	 	 	 (D)	 Mid-Atlantic ridge

	 73.	 Ho$Q>m~o{Q>H$ ndZ h¡

	 (A)	 CÜd© T>mb ndZ			   (B)	 AYmo T>mb ndZ

	 (C)	 j¡{VO ndZ			   (D)	 pñWa ndZ

Katabatic wind is

	 (A)	 Up slope wind	 	 	 (B)	 Down slope wind

	 (C)	 Horizontal wind	 	 	 (D)	 Stable wind

	 74.	 H$m°ånoO H$m {dMma {H$gZo {X`m Wm ?

	 (A)	 hmQ>©emoZ©	 (B)	 pìhQ>bogr	 (C)	 h~©Q>©gZ	 (D)	 AZñQ>oS>

Who put forth the idea of compage ?

	 (A)	 Hartshorne	 (B)	 Whittlesey	 (C)	 Herbertson	 (D)	 Unstead

	 75.	 nwamUm| _| emë_br Ûrn {H$g joÌ H$mo H$hm J`m h¡ ?

	 (A)	 nydu A\«$sH$m	 (B)	 _Ü` nyd©	 (C)	 nydu E{e`m	 (D)	 ~mo{Z©`mo

Which region in Puranas is referred to as Shalmali Dwipa ?

	 (A)	 East Africa	 (B)	 Middle East	 (C)	 East Asia	 (D)	 Borneo
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	 76.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : _Ü`_ÊS>b (_ogmoñ\$s`a) dh naV h¡ Ohm± CëH$mE± n¥Ïdr Ho$ dm`w_ÊS>b _| àdoe H$aZo na Ob 

OmVr h¡ &
H$maU (R) : _Ü`_ÊS>b _| J«rZhmCg J¡gm| H$s CÀM gm§ÐVm hmoVr h¡ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : The mesosphere is the layer where meteors burn up upon entering the earth’s 

atmosphere.
Reason (R) : The mesospheres has a high concentration of greenhouse gasses.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A)

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true

	 77.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : Oo. Q>r. h¡H$ Zo ^y-AmH¥${V {dkmZ _| J{Verb g§VwbZ H$s AdYmaUm àñVwV H$s h¡ &
H$maU (R) : Oo. Q>r. h¡H$ Zo Bg ~mV na Omoa Zht {X`m {H$ ^yÑí`, {ddV©{ZH$s` CËWmZ Am¡a AZmÀN>mXZ à{H«$`m Ho$ 

~rM g§VwbZ àmßV H$aVm h¡ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : J. T. Hack proposed the concept of dynamic equilibrium in Geomorphology.
Reason (R) : J. T. Hack did not emphasize that landscape achieve a balance between tectonic uplift 

and denudational process.
Select the correct answer from the code given below :
Code : 

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true



	 -18-	 36 

	 78.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : Eë`w{e`Z Ûrn Ádmbm_wIr {dñ\$moQ>m| H$m ñWb h¡ &
H$maU (R) : A{^gmar ßboQ> gr_mE± Ádmbm_wIr {dñ\$moQ>m| Ho$ ñWb hmoVo h¢ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡

	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡

	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Aleutian Islands are a site of volcanic eruptions.
Reason (R) : Convergent plate boundaries are site of volcanic eruptions.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true

	 79.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &

A{^H$WZ (A) : gwXÿa gådoXZ H$m Cn`moJ ^y{_ AmdaU _| hmoZo dmbo n[adV©Zm| H$m AÜ``Z H$aZo Ho$ {bE {H$`m Om 
gH$Vm h¡ &

H$maU (R) : gwXÿa gådoXZ n¥Ïdr H$s gVh Ho$ d¥hX> joÌ H$m g§`wŠV Ñí` àXmZ Zht H$aVm h¡ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡

	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡

	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Remote sensing can be used to study changes in land cover.
Reason (R) : Remote sensing does not provides a synoptic view of large area of earth surface.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true
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	 80.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : Ohm± J_© d R>§S>r _hmgmJar` YmamE± {_bVr h¡, do joÌ {díd Ho$ à_wI _Ëñ` joÌ h¡ &
H$maU (R) : J_© d R>§S>r _hmgmJar` YmamAm| Ho$ {_bZo dmbo joÌ Ho$ Ob H$m Vmn_mZ _N>{b`m| Ho$ àOZZ hoVw 

gdm©{YH$ Cn`wŠV hmoVm h¡ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : The areas where warm and cold ocean currents meet, are the major fishing areas 

of the world.
Reason (R) : The temperature of water of the area where warm and cold ocean currents meet, 

is most suitable for the breeding of fishes.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true

	 81.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : VQ>r` Amo{S>em, ^maV H$m AË`{YH$ MH«$dmV à^m{dV joÌ h¡ &
H$maU (R) : _¢J«mod Ho$ d¥j AnZr ì`mnH$ O‹S>m| Ho$ H$maU Vy\$mZ Am¡a Ádma go CI‹S>Vo Zht h¢ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Coastal Odisha is highly cyclone prone area of India.
Reason (R) : Mangrove trees do not get uprooted by storms and tides because of there extensive 

roots.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true
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	 82.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : ßboQ>m| Ho$ A{^gaU _ÊS>b _| ^y-nn©Q>r (H«$ñQ>) H$s j{V hmoVr h¡ &
H$maU (R) : ^mar ßboQ>m| H$m AdjonU ~oZrAm\$ _ÊS>b _o§ hmoVm h¡ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡

	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡

	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Loss of earth crust occurs in the convergence zone of plate.
Reason (R) : The subduction of heavy plate occurs in the Benioff zone.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true

	 83.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : Obr` AnaXZ MH«$ H$s OrUm©dñWm _| A{YH$V_ CËH«$_mn (BÝQ´>mnr) hmoVr h¡ &
H$maU (R) : Obr` AnaXZ MH«$ H$s ApÝV_ AdñWm _| noZoßbmZoeZ à{H«$`m à_wI à^mdr à{H«$`m hmoVr h¡ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡

	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡

	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Maximum entropy occurs in the old stage of the hydrological erosion cycle.
Reason (R) : In the last stage of the hydrological cycle of erosion, the process of peneplanation is the 

main effective process.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true
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	 84.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : AË`{YH$ eharH¥$V joÌm| _| àOZZ Xa _| H$_r AmVr h¡ &
H$maU (R) : ZJarH$aU go {deofH$a _{hbmAm| H$mo {ejm Ed§ amoOJma Ho$ ~ohVa Adga àmßV hmoVo h¢ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Fertility rates tend to decline in highly urbanised areas.
Reason (R) : Urbanization provides better access to education and employment opportunities 

especially for women.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true

	 85.	 ZrMo Xmo H$WZ h¢ {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
A{^H$WZ (A) : A§Q>mH©${Q>H$m gX¡d ~\©$ go T>H$m ahVm h¡ bo{H$Z dhm± dm{f©H$ dfm© 8 go_r go ^r H$_ hmoVr h¡ &
H$maU (R) : A§Q>mH©${Q>H$m _| bJmVma VoO hdmE°§ MbVr h¢ &
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡
	 (C)	 (A) gË` h¡ naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡ naÝVw (R) gË` h¡

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Antarctica is always covered by snow but receives less than 8 cm of annual 

precipitation.
Reason (R) : Speedy winds constantly blow in Antarctica.
Select the correct answer from the code given below :
Code :

	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A) 

	 (B)	 Both (A) and (R) are true but (R) is not the correct explanation of (A) 

	 (C)	 (A) is true but (R) is false

	 (D)	 (A) is false but (R) is true
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	 86.	 {hÝX_hmgmJa _| {ZåZ{b{IV ObS>_é_Ü`m| H$mo nyd© go npíM_ Ho$ H«$_ _| ì`dpñWV H$s{OE &
	 I.	 _bŠH$m ObS>_é_Ü`
	 II.	 ~m~-Eb-_§S>on
	 III.	 hm_w©O ObS>_é_Ü`
	 IV.	 nmH$ ObS>_é_Ü`

ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE : 
Hy$Q> :

	 (A)	 I, II, iv, iii	 (B)	 i, iv, iii, ii	 (C)	 ii, iii, iv, i	 (D)	 i, iii, ii, iv
Arrange the following straits of Indian ocean from East to West.

	 I.	 Malacca strait

	 II.	 Bab-el-Mandep

	 III.	 Strait of Hormuz

	 IV.	 Palk strait
Select the correct answer from the code given below :
Code :

	 (A)	 I, II, iv, iii	 (B)	 i, iv, iii, ii	 (C)	 ii, iii, iv, i	 (D)	 i, iii, ii, iv

	 87.	 ZJar` {Z`moOZ àXoem| Ho$ gr_m§H$Z Ho$ {bE {ZåZ{b{IV _| go à`moJ H$s OmZo dmbr _mÌmË_H$ {d{Y H$m M`Z 
H$s{OE &

	 a.	 {WEgoZ ~hþ^wO {d{Y 

	 b.	 J«m\$ {gÕm§V {d{Y 

	 c.	 {d^oXH$ {díbofU 

	 d.	 {ZH$Q>V_ n‹S>mogr {díbofU 
ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :
Hy$Q> :

	 (A)	 Ho$db a			   (B)	 a Am¡a b

	 (C)	 a, b Am¡a c	 	 	 (D)	 g^r a, b, c Am¡a d
Select from the following quantitative methods used for demarcation of urban planning regions :

	 a.	 Thiessen polygon method

	 b.	 Graph theory method

	 c.	 Discriminant analysis

	 d.	 Nearest neighbour analysis
Select the correct answer from the code given below :
Code :

	 (A)	 Only a	 	 	 (B)	 a and b

	 (C)	 a, b and c	 	 	 (D)	 All a, b, c and d
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	 88.	 {ZåZ{b{IV H$mo X{jU go CÎma AZwH«$_ _| ì`dpñWV H$s{OE &

	 I.	 nran§Omb loUr

	 II.	 Om§ñH$a loUr

	 III.	 _hmZ {h_mb`

	 IV.	 bÔmI loUr
ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE : 
Hy$Q> :

	 (A)	 i, ii, iv, iii	 (B)	 i, iv, iii, ii	 (C)	 ii, iii, iv, i	 (D)	 i, iii, ii, iv

Arrange the following from South to North sequence.

	 I.	 Pirpanjal range

	 II.	 Zanskar range

	 III.	 Greater Himalayas

	 IV.	 Ladakh range

Select the correct answer from the code given below :
Code :

	 (A)	 i, ii, iv, iii	 (B)	 i, iv, iii, ii	 (C)	 ii, iii, iv, i	 (D)	 i, iii, ii, iv

	 89.	 {ZåZ{b{IV _| go H$m¡Z ñWm{ZH$ Am±H$‹S>m| H$m doŠQ>a \$mBb àmê$n h¡ ?

	 a.	 E_.S>r.~r.

	 b.	 Q>r.E.~r.

	 c.	 S>r.Eb.Or.

	 d.	 nr.EZ.Or.
ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE :
Hy$Q> :

	 (A)	 Ho$db a			   (B)	 a Am¡a b

	 (C)	 a, b Am¡a c	 	 	 (D)	 g^r a, b, c Am¡a d

Which of the following is /are a vector file format for spatial data ?

	 a.	 mdb

	 b.	 tab

	 c.	 dlg

	 d.	 png

Select the correct answer from the code given below :
Code :

	 (A)	 Only a	 	 	 (B)	 a and b

	 (C)	 a, b and c	 	 	 (D)	 all a, b, c and d
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	 90.	 àm`Ûrnr` ^maV _| npíM_ H$s Amoa ~hZo dmbr {ZåZ{b{IV Z{X`m| H$mo CÎma go X{jU H$s Amoa ì`dpñWV H$s{OE &
	 I.	 gm~a_Vr
	 II.	 Vmnr
	 III.	 H$mbr ZXr
	 IV.	 ^maVnwPm

ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE : 
Hy$Q> :

	 (A)	 i, ii, iii, iv	 (B)	 i, iv, iii, ii	 (C)	 ii, iii, iv, i	 (D)	 i, iii, ii, iv

Arrange the following west flowing rivers in peninsular India from North to South.

	 I.	 sabarmati

	 II.	 Tapi

	 III.	 Kali nadi

	 IV.	 Bharathappuzha

Select the correct answer from the code given below :

Code :
	 (A)	 i, ii, iii, iv	 (B)	 i, iv, iii, ii	 (C)	 ii, iii, iv, i	 (D)	 i, iii, ii, iv

	 91.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE & 
		   gyMr  – I	                                                           gyMr – II
		   ({gÕmÝV)		  (à{VnmXH$)
	 a.	 _mëWg {gÕmÝV	 I.	 dmaoZ WmångZ
	 b.	 OZgm§p»`H$s g§H«$_U {gÕmÝV	 II.	 Oy{b`Z gmB_Z
	 c.	 AZwHy$bV_ OZg§»`m {gÕmÝV	 III.	 Wm_g _mëWg
	 d.	 H$mZ©wH$mo{n`Z {gÕmÝV	 IV.	 ES>{dZ H¡$ZZ

Hy$Q> :

	 (A)	 a – iii, b – i, c – iv, d – ii			  (B)	 a – iii, b – iv, c – ii, d – i

	 (C)	 a – ii, b – iii, c – i, d – iv		 	 (D)	 a – iv, b – ii, c – iii, d – i

Match List – I with List – II and select the correct answer from the code given below the lists.

		         List – I	                                                      List – II
		     (Theories)		  (Proponents)
	 a.	 Malthusian theory	 I.	 Warren Thompson

	 b.	 Demographic transition theory	 II.	 Julian Simon

	 c.	 Optimum population theory	 III.	 Thomas Malthus

	 d.	 Cornucopian theory	 IV.	 Edwin Cannon

Code :
	 (A)	 a – iii, b – i, c – iv, d – ii	 (B)	 a – iii, b – iv, c – ii, d – i
	 (C)	 a – ii, b – iii, c – i, d – iv	 (D)	 a – iv, b – ii, c – iii, d – i
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	 92.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE & 
	                      gyMr – I		      gyMr – II

		  (VH$ZrH$)		  (A§H$s` {~å~ àH«$_U)

	 a.	 S>r-pñQ´>qnJ	 I.	 {~å~ CÀMrH$aU
	 b.	 {hñQ>moJ«m_ àgm_mÝ`rH$aU	 II.	 {~å~ {d^mOZ
	 c.	 EZ.S>r.dr.AmB©.	 III.	 ao{S>`mo_o{Q´>H$ g§emoYZ
	 d.	 _¡pŠg__ bmBH$brhÿS>	 IV.	 {~å~ ê$nmÝVaU

Hy$Q> :
	 (A)	 a – iv, b – ii, c – iiI, d – i	 (B)	 a – i, b – ii, c – iii, d – iv
	 (C)	 a – iv, b – iii, c – ii, d – i	 (D)	 a – iii, b – i, c – iv, d – ii

Match List – I with List – II and select the correct answer from the code given below the lists.
		      List – I		      List – II
		  (Techniques)		  (Digital Image Processing)
	 a.	 De-Striping	 I.	 Image enhancement
	 b.	 Histogram Equalisation	 II.	 Image classification 
	 c.	 ndvi	 III.	 Radiometric correction
	 d.	 Maximum likelihood	 IV.	 Image transformation

Code :
	 (A)	 a – iv, b – ii, c – iIi, d – i	 (B)	 a – i, b – ii, c – iii, d – iv
	 (C)	 a – iv, b – iii, c – ii, d – i	 (D)	 a – iii, b – i, c – iv, d – ii

	 93.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE & 

	                    gyMr  – I	                                                           gyMr – II

		  (CnJ«h )		  (AZwà`moJ)

	 a.	 gab	 I.	 Obdm`w Ed§ n`m©daU
	 b.	 H$mQ>m}g¡Q> – 3	 II.	 AmnXm à~§YZ
	 c.	 arg¡Q – 2>~r.Ama. – i	 III.	 ZJar` {Z`moOZ
	 d.	 ñH$mQ>g¡Q >– i	 IV.	 _hmgmJar` AÜ``Z

Hy$Q> :
	 (A)	 a – i, b – iv, c – iii, d – ii	 (B)	 a – iv, b – iii, c – ii, d – i
	 (C)	 a – ii, b – i, c – iv, d – iii	 (D)	 a – iii, b – ii, c – iv, d – i

Match List – I with List – II and select the correct answer from the code given below the lists.
		     List – I		      List – II
		  (Satellites)		  (Applications)
	 a.	 Saral	 I.	 Climate and environment

	 b.	 Cortosat – 3	 II.	 Disaster management

	 c.	 risat – 2br – i	 III.	 Urban planning

	 d.	 scatsat – i	 IV.	 Oceanographic studies
Code :

	 (A)	 a – i, b – iv, c – iii, d – ii	 (B)	 a – iv, b – iii, c – ii, d – i
	 (C)	 a – ii, b – i, c – iv, d – iii	 (D)	 a – iii, b – ii, c – iv, d – i
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	 94.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE & 
		     gyMr  – I		    gyMr – II
		  ( _hmgmJar` AmH¥${V )		  (AdpñW{V )
	 a.	 _Ü` AQ>bm§{Q>H$ H$Q>H$	 I.	 {hÝX _hmgmJa
	 b.	 _¡[a`mZm JV©	 II.	 AQ>bm§{Q>H$ _hmgmJa 
	 c.	 _hmZ ~¡[a`a ar\$	 III.	 àemÝV _hmgmJa
	 d.	 Omdm JV©	 IV.	 àdmb gmJa

Hy$Q> :
	 (A)	 a – iv, b – iii, c – ii, d – i	 (B)	 a – ii, b – iii, c – iv, d – i
	 (C)	 a – ii, b – iv, c – i, d – iii	 (D)	 a – i, b – ii, c – iii, d – iv

Match List – I with List – II and select the correct answer from the code given below the lists.
		      List – I		    List – II
		  (Oceanic Features)		  (Location)
	 a.	 Mid Atlantic Ridge	 I.	 Indian ocean
	 b.	 Mariana Trench	 II.	 Atlantic ocean
	 c.	 Great Barrier Reef	 III.	 Pacific ocean
	 d.	 Java Trench	 IV.	 Coral Sea

Code :
	 (A)	 a – iv, b – iii, c – ii, d – i	 (B)	 a – ii, b – iii, c – iv, d – i
	 (C)	 a – ii, b – iv, c – i, d – iii	 (D)	 a – i, b – ii, c – iii, d – iv

	 95.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
		     gyMr  – I		      gyMr – II
		  ( `moJXmZ )		  ( {dÛmZ H$m Zm_)

	 a.	 gm_m{OH$ ^yJmob H$s àW_ AdYmaUm	 I.	 hoZar bo\o$~«o
	 b.	 {b`y-Q´>odob \¡${_br	 II.	 Ho${_br dbmŠg
	 c.	 ñnog, ßbog Am°\$ OoÝS>a	 III.	 \«o$S>[aH$ bo ßbo
	 d.	 àmoS>ŠeZ Am°\$ ñnog	 IV.	 S>r. _¡gr

Hy$Q> :
	 (A)	 a – iv, b – ii, c – i, d – iii	 (B)	 a – iii, b – i, c – ii, d – iv
	 (C)	 a – ii, b – iii, c – iv, d – i	 (D)	 a – i, b – iii, c – iv, d – ii

Match List – I with List – II and select the correct answer from the code given below the lists.
		      List – I		      List – II
		  (Contribution)		  (Name of Scholar)
	 a.	 First concept of social geography	 I.	 Henri Lefebvre
	 b.	 Lieu-Travail Famille	 II.	 Camille Vallaux
	 c.	 Space, Place of Gender	 III.	 Frederic Le Play
	 d.	 The production of space	 IV.	 D. Massey

Code :
	 (A)	 a – iv, b – ii, c – i, d – iii	 (B)	 a – iii, b – i, c – ii, d – iv
	 (C)	 a – ii, b – iii, c – iv, d – i	 (D)	 a – i, b – iii, c – iv, d – ii
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	 96.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
		    gyMr  – I		    gyMr – II
		  (^yJmobdoÎmm )		  (eãX à`moJ )
	 a.	 AmÝÐo E{bŠg	 I.	 {gQ>r arOZ
	 b.	 Ama. B©. {S>{H$ÝgZ	 II.	 A~©Z \$sëS>
	 c.	 J«rZ	 III.	 A_b¡ÊS>
	 d.	 ñ_oëg	 IV.	 A~©Z {hÝQ>ab¡ÊS>

Hy$Q> :
	 (A)	 a – ii, b – iii, c – i, d – iv	 (B)	 a – iii, b – iv, c – ii, d – i
	 (C)	 a – iii, b – i, c – iv, d – ii	 (D)	 a – iv, b – ii, c – i, d – iii

Match List – I with List – II and select the correct answer from the code given below the lists.
		      List – I		      List – II
		  (Geographers)		  (Term used)
	 a.	 Andre Allix	 I.	 City region
	 b.	 R. E. Dickinson	 II.	 Urban field
	 c.	 Green	 III.	 Umland
	 d.	 Smailes	 IV.	 Urban Hinterland

Code :
	 (A)	 a – ii, b – iii, c – i, d – iv	 (B)	 a – iii, b – iv, c – ii, d – i
	 (C)	 a – iii, b – i, c – iv, d – ii	 (D)	 a – iv, b – ii, c – i, d – iii

	 97.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
		     gyMr  – I		    gyMr – II
		  (_hmgmJar` Ymam)		  (AdpñW{V)
	 a.	 hå~moëQ> Ymam	 I.	 X{jUr A_o[aH$m H$m npíM_r VQ>
	 b.	 AJwbhmg> Ymam	 II.	 Š`y~m H$m CÎmar VQ>
	 c.	 ~|JwEbm> Ymam	 III.	 A\«$sH$m H$m npíM_r VQ
	 d.	 E§{Q>bog> Ymam	 IV.	 A\«$sH$m H$m nydu VQ>

Hy$Q> :
	 (A)	 a – ii, b – iv, c – iii, d – i	 (B)	 a – i, b – ii, c – iii, d – iv
	 (C)	 a – ii, b – i, c – iv, d – iii	 (D)	 a – i, b – iv, c – iii, d – ii

Match List – I with List – II and select the correct answer from the code given below the lists.
		         List – I		     List – II
		  (Oceanic current)	  	  (Location)
	 a.	 Humboldt current	 I.	 Western coast of South America
	 b.	 Agulhas current 	 II.	 Northern Coast of Cuba
	 c.	 Benguela current	 III.	 Western Coast of Africa
	 d.	 Antilles current	 IV.	 Eastern Coast of Africa

Code :
	 (A)	 a – ii, b – iv, c – iii, d – i	 (B)	 a – i, b – ii, c – iii, d – iv
	 (C)	 a – ii, b – i, c – iv, d – iii	 (D)	 a – i, b – iv, c – iii, d – ii
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	 98.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

		     gyMr  – I		    gyMr – II

		  (ñWmZr` ndZ)		  (Xoe/àXoe )

	 a.	 ha_Å>Z	 I.	 AO}ÊQ>rZm

	 b.	 h~y~	 II.	 E{S´>`m{Q>H$ VQ>

	 c.	 ~moam	 III.	 npíM_r A\«$sH$m

	 d.	 OmoÊS>m	 IV.	 gwS>mZ

Hy$Q> :

	 (A)	 a – i, b – ii, c – iii, d – iv

	 (B)	 a – i, b – iv, c – ii, d – iii

	 (C)	 a – iii, b – iv, c – ii, d – i

	 (D)	 a – iii, b – ii, c – iv, d – i

Match List – I with List – II and select the correct answer from the code given below the lists.

		      List – I		      List – II

		  (Local wind)		  (Country/Region)

	 a.	 Harmattan	 I.	 Argentina

	 b.	 Haboob	 II.	 Adriatic coast

	 c.	 Bora	 III.	 West Africa

	 d.	 Zonda	 IV.	 Sudan

Code :

	 (A)	 a – i, b – ii, c – iii, d – iv

	 (B)	 a – i, b – iv, c – ii, d – iii

	 (C)	 a – iii, b – iv, c – ii, d – i

	 (D)	 a – iii, b – ii, c – iv, d – i
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	 99.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

		    gyMr  – I		   gyMr – II

		  (Andmh à{Vê$n)	                                                 (joÌ)

	 a.	 d¥jmH$ma	 I.	 H¡$pñn`Z gmJa

	 b.	 Ho$ÝÐm{^_wI	 II.	 A_aH§$Q>H$

	 c.	 ao{S>`b	 III.	 Enbo{e`Z

	 d.	 Q´>o{bg	 IV.	 A_oµOZ

Hy$Q> :

	 (A)	 a – iv, b – ii, c – i, d – iii

	 (B)	 a – iv, b – i, c – ii, d – iii

	 (C)	 a – i, b – iii, c – iv, d – ii

	 (D)	 a – i, b – iv, c – iii, d – ii

Match List – I with List – II and select the correct answer from the code given below the lists.

		      List – I		   List – II

		  (Drainage Pattern)		    (Area)

	 a.	 Dendritic	 I.	 Caspean Sea

	 b.	 Centripetal	 II.	 Amarkantak

	 c.	 Radial	 III.	 Appalachian

	 d.	 Trellis	 IV.	 Amazon

Code :

	 (A)	 a – iv, b – ii, c – i, d – iii

	 (B)	 a – iv, b – i, c – ii, d – iii

	 (C)	 a – i, b – iii, c – iv, d – ii

	 (D)	 a – i, b – iv, c – iii, d – ii



	 -30-	 36 

	 100.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

		  gyMr  – I		      gyMr – II

		  (^yÑí`)		  ({Z_m©U à{H«$`m)

	 a.	 S´>_{bZ	 I.	 VQ>r` {ZjonU

	 b.	 ~OmS>m	 II.	 {h_ZXr` {ZjonU

	 c.	 BÝgob~J©	 III.	 ZXr` {ZjonU

	 d.	 Q>moå~mobmo	 IV.	 Anj` Am¡a dm`w AnaXZ

Hy$Q> :

	 (A)	 a – iv, b – iii, c – ii, d – i

	 (B)	 a – iv, b – i, c – iii, d – ii

	 (C)	 a – ii, b – iii, c – i, d – iv

	 (D)	 a – ii, b – iii, c – iv, d – i

Match List – I with List – II and select the correct answer from the code given below the lists.

		      List – I		      List – II

		  (Landforms)		  (Formation Process)

	 a.	 Drumlin	 I.	 Coastal deposition

	 b.	 Bajada	 II.	 Glacial deposition

	 c.	 Inselberg	 III.	 Fluvial deposition

	 d.	 Tombolo	 IV.	 Weathering and wind erosion

Code :

	 (A)	 a – iv, b – iii, c – ii, d – i

	 (B)	 a – iv, b – i, c – iii, d – ii

	 (C)	 a – ii, b – iii, c – i, d – iv

	 (D)	 a – ii, b – iii, c – iv, d – i
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